PHYS-201 Equation Sheet for Final Exam
(12/14/2012, MAIN AUDITORIUM, 08:00 AM - 10:00 AM)

Periodic Motion
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Mechanical Waves

Note that F'is a tension in a string.

y(z,t) = A cos(kx — wt)
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Sound Waves
y(x,t) = A cos(kx — wt)
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Electromagnetic Waves
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Interference on Thin Films
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Diffraction on a Single Slit or Circular Apertures

sin Qg = m—

s

Hmin =

(m = +1,42,43,...)

A

Omin = 1.225

Diffraction—Interference on Double & Multiple Slits
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Blackbody Radiation
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Photoelectric Effect
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Discrete Spectra of Atomic Gases: Rydberg Formula
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Bohr Model of the Hydrogen Atom
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Compton Effect; De Broglie Waves; Uncertainty Principle
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Particle in a Box; Schrodinger Equation; Tunneling
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Special Theory of Relativity
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